

## Oscillation criteria for certain even-order neutral delay difference equations

**Pon. Sundar**

*Department of Mathematics,  
Om Muruga College of Arts and Science,  
Mettur, Tamilnadu, India.*

**B. Kishokkumar**

*Department of Mathematics,  
Paavai Engineering College,  
Namakkal - 637 018, Tamilnadu, India.*

### Abstract

In this paper, we established sufficient conditions for the oscillation of solutions of even-order neutral type difference equation of the form

$$\Delta [r(n) (\Delta^{m-1}(x(n) + p(n)x(\tau(n))))] + q(n)f(x(\sigma(n))) = 0$$

under the conditions

$$\sum_{n=1}^{\infty} \frac{1}{r(n)} = \infty$$

and

$$\sum_{n=1}^{\infty} \frac{1}{r(n)} < \infty$$

Examples are also given to illustrate our results.

**AMS subject classification:** 39A10, 39A12.

**Keywords:** Oscillation, neutral, even order, nonlinear, neutral difference equation.

## 1. Introduction

The paper concerns the oscillatory behavior of solutions of higher order neutral type nonlinear difference equation of the following form

$$\Delta [r(n) (\Delta^{m-1}(x(n) + p(n)x(\tau(n))))] + q(n)f(x(\sigma(n))) = 0, \quad n \geq n_0 \quad (1.1)$$

where  $n \geq 2$  and  $\Delta$  is the forward difference operator defined by

$$\Delta x(n) = x(n+1) - x(n)$$

and

$$\Delta^i x(n) = \Delta(\Delta^{i-1}x(n))$$

and

$$n_0 \in N = \{n_0, n_0 + 1, n_0 + 2, \dots\}$$

The following conditions are assumed to be hold:

- (C<sub>1</sub>)  $\{p(n)\}$  and  $\{q(n)\}$  are real sequences such that  $0 \leq p(n) \leq p_0 < 1$  and  $q(n) > 0$ , where  $p_0$  is a constant.
- (C<sub>2</sub>)  $\{r(n)\}$  is a real sequence such that  $r(n) > 0$  and  $\Delta r(n) \geq 0$ .
- (C<sub>3</sub>)  $\{\tau(n)\}$  and  $\{\sigma(n)\}$  are non negative integer sequences such that  $\tau(n) < n, \sigma(n) < n, \Delta\sigma(n) > 0$ , and  $\lim_{n \rightarrow \infty} \sigma(n) = \lim_{n \rightarrow \infty} \tau(n) = \infty$ .
- (C<sub>4</sub>)  $f$  is continuous  $R \rightarrow R$  such that  $\frac{f(x)}{x} \geq K > 0$ , for  $x \neq 0$  and  $K$  is a constant.

Further, We will consider the following two cases

$$\sum_{n=n_0}^{\infty} \frac{1}{r(n)} = \infty \quad (1.2)$$

$$\sum_{n=n_0}^{\infty} \frac{1}{r(n)} < \infty \quad (1.3)$$

Let  $\mu = \max\{\sup\{\tau(n), \sigma(n)\}\}$ . Then by a solution of equation (1) we mean a real sequence  $\{x(n)\}$  which is defined for  $n \geq -\mu$  and which satisfies equation (1) for  $n \geq 0$ . A Solution  $\{x(n)\}$  of equation (1) is said to be eventually positive if  $x(n) > 0$  for all large  $n$ , and eventually negative if  $x(n) < 0$  for all large  $n$ . It is said to be oscillatory if it is neither eventually positive nor eventually negative. We will also say that (1) is oscillatory if all of its solutions are oscillatory.

I. Kubiacyk and S.H. Sekar [14] studied the second order sublinear delay difference equation

$$\Delta p_n(\Delta x_n) + q_n x_{n-\tau}^\gamma = 0, \quad 0 \leq \gamma \leq 1. \quad (E_1)$$

By using the Riccati transformation techniques the authors obtained oscillation criteria for the equation (E\_1) under the conditions

$$\sum_{n=n_0}^{\infty} \frac{1}{p_n} = \infty \quad \text{and} \quad \sum_{n=n_0}^{\infty} \frac{1}{p_n} < \infty.$$

Pon. Sundaram and E. Thandapani [24] studied the oscillatory behavior of the solutions of the second order neutral difference equation

$$\Delta(L_1^\alpha x(n)) + f(n, xg(n)) = 0 \quad (\text{E}_2)$$

where  $L_1 x(n) = a(n)|\Delta L_0 x(n)|^\alpha \text{sign } \Delta L_0(x(n))$  and  $L_0(x(n)) = x(n) - p(n)x(\tau(n))$  under the conditions  $0 \leq p(n) \leq 1$  and

$$\sum_{n=n_0}^{\infty} \frac{1}{(a(n))^{\frac{1}{\alpha}}} = \infty.$$

The authors obtained necessary and sufficient conditions for oscillation of almost all solution of (E\_2) with  $f(n, u)$  belonging to suitably restricted classes of superlinear and sublinear functions with respect to  $u$ .

In 1998, Wan-Tong Li [19] studied the oscillatory behavior of the following higher order nonlinear difference equation

$$\Delta(r_n(\Delta^\alpha(x_n - p_n x_{n-\tau}))^\delta) + f(n, x_{n-\sigma}) = 0, n \geq n_0 \quad (\text{E}_3)$$

under the condition

$$\sum_{n=n_0}^{\infty} \left(\frac{1}{r_n}\right)^{\frac{1}{\delta}} < \infty.$$

The author obtained some sufficient conditions which guarantee that every bounded solution of equation (E\_3) is either oscillatory or tends to zero. These oscillation criteria, at least in some sense, complemented and improved those of X.Zhou and J.R. Yan [31].

In 2003, Z. Liu, S. Wu and Z. Zhang [20] considered the even order neutral difference equation

$$\Delta^{m-1}(a_n \Delta(x_n + \varphi(n, \tau_n) + q_n f(x(g_n)))) = 0 \quad (\text{E}_4)$$

under the conditions  $\sum_n \frac{1}{a_n} = \infty$  and  $0 < \frac{\varphi(n, u)}{u} \leq p_n < 1$  for  $u \neq 0$ .

Some Riccati type difference inequalities are established for this equation (E\_4) and the authors obtained some oscillation criteria using these difference inequalities.

Due to its numerous applications in fields such as economics and mathematical biology, the oscillation theory of difference equations has been receiving intensive attention. In the last two decades we refer the readers to the monographs [1, 2, 5, 8, 13, 16] and the references cited therein. The problem of finding sufficient conditions which ensure that all solutions of certain classes of even order neutral type difference equations are oscillatory has been studied by a number of authors and we refer the reader to the papers [3, 4, 6, 7, 9–12, 15, 17, 18, 21, 22, 25–30] and the references cited therein.

## 2. Auxiliary Lemmas

The following Lemmas will be needed in the proof of our main results.

**Lemma 2.1. [1] (Discrete Kneser's Theorem)** Let  $\{u(n)\}$  be a sequence of real numbers in  $N = \{0, 1, 2, \dots\}$ . Let  $u(n) > 0$  and  $\Delta^m u(n)$  be of constant sign with  $\Delta^m u(n)$ , not being identically zero on any subset  $\{n_0, n_0 + 1, n_0 + 2, \dots\}$ . Then, there exists an integer  $l$ ,  $0 \leq l \leq m$  with  $m + l$  odd for  $\Delta^m u(n) \leq 0$  and  $m + l$  even for  $\Delta^m u(n) \geq 0$  such that

$$l \leq m - 1 \text{ implies } (-1)^{l+k} \Delta^k u(n) > 0, \text{ for all } n \in N, 1 \leq k \leq m - 1, \quad (2.1)$$

and

$$l \geq 1 \text{ implies } \Delta^k u(n) > 0, \text{ for all } n \in N, 1 \leq k \leq l - 1. \quad (2.2)$$

**Lemma 2.2. [1]** Let  $z(n)$  be as defined in Lemma 2.1 and such that  $z(n) > 0$  and  $\Delta^m z(n) \leq 0$  for all  $n \geq n_0 \in N$ . Then there exists a sufficiently large integer  $n_1$ , such that for all  $n \geq n_1 \geq n_0$

$$z(n) \geq \frac{(n - n_1)^{(m-1)}}{(m - 1)!} \Delta^{m-1} z(2^{m-l-1} n) \quad (2.3)$$

where  $(n - n_1)^{(m-1)}$  is the usual factorial notation. Moreover, if  $\{z(n)\}$  is increasing, then

$$z(n) \geq \frac{(n)^{(m-1)}}{(m - 1)!} \Delta^{m-1} z(n) \frac{1}{(2^{m-1})^{(m-1)}} \text{ for all } n \geq 2n_1 \quad (2.4)$$

**Lemma 2.3. [23]** Assume that (2) holds. Furthermore, Assume that  $x(n)$  is an eventually positive solution of (1). Then there exists  $n \geq n_0$  such that

$$z(n) > 0, \Delta z(n) > 0, \Delta^{m-1} z(n) > 0 \text{ and } \Delta^m z(n) \leq 0 \text{ for all } n \geq n_1 \quad (2.5)$$

## 3. Main Results

**Theorem 3.1.** Assume that (2) holds. If

$$\sum_{n=1}^{\infty} q(n) = \infty \quad (3.1)$$

then every solution  $\{x(n)\}$  of equation (1) is oscillatory.

*Proof.* Let  $x(n)$  be a nonoscillatory solution of (1). Without loss of generality, we may assume that  $x(n)$  is eventually positive (The proof is similar when  $x(n)$  is eventually negative).

That is, let  $x(n) > 0$ ,  $x(\tau(n)) > 0$  and let  $x(\sigma(n)) > 0$  for  $n \geq n_1 \geq 0$ . Set

$$z(n) = x(n) + p(n)x(\tau(n)). \quad (3.2)$$

Since  $p(n)$  is nonnegative,  $z(n) > x(n) > 0$  for  $n \geq n_1$ . From (1) and (10), we have

$$\begin{aligned} \Delta(r(n)\Delta^{m-1}z(n)) &= r(n)\Delta^m z(n) + \Delta r(n)\Delta^{m-1}z(n) \\ &= -q(n)f(x(\sigma(n))) < 0. \end{aligned} \tag{3.3}$$

Then  $r(n)\Delta^{m-1}z(n)$  is decreasing and  $\Delta^{m-1}z(n)$  is eventually of one sign. Hence either

$$\Delta^{m-1}z(n) > 0 \text{ for } n \geq n_2 \geq n_1 \tag{3.4}$$

or

$$\Delta^{m-1}z(n) < 0 \text{ for } n \geq n_2 \geq n_1. \tag{3.5}$$

If (13) holds, then

$$r(n)\Delta^{m-1}z(n) \leq r(n_2)\Delta^{m-1}z(n_2) < 0. \text{ for } n \geq n_2. \tag{3.6}$$

Dividing this inequality by  $r(n)$  and summing from  $n_2$  to  $n - 1$ , then by using (2), we get

$$\lim_{n \rightarrow \infty} \Delta^{m-1}z(n) = -\infty. \tag{3.7}$$

This result along with (13) leads to  $\lim_{n \rightarrow \infty} z(n) = -\infty$ .

But this contradicts the fact that  $z(n) > 0$ . Then (12) holds. Then from (11) and the fact that  $r(n)$  is a positive nondecreasing sequence, we conclude that  $\Delta^m z(n) < 0$ , for  $n \geq n_2$ . It follows that  $\Delta^i z(n)$  ( $i = 0, 1, 2, \dots, m - 1$ ) is strictly monotonic and of constant sign eventually.

By applying lemma 2.1,  $z(n)$  satisfies (4) and (5), since  $m$  is even, the integer  $l$  associated with  $z(n)$  is odd, that is  $l \geq 1$ . Hence,  $z(n)$  is increasing for  $n \geq n_3 \geq n_2$ .

Then from (10) and the fact that  $z(n)$  is increasing, we have

$$\begin{aligned} x(n) &= z(n) - p(n)x(\tau(n)) \\ &\geq z(n) - p(n)z(\tau(n)) \\ &\geq (1 - p(n))z(n) \\ &\geq (1 - p_0)z(n), \text{ for } n \geq n_3. \end{aligned} \tag{3.8}$$

Let  $n_4 \geq n_3$  be such that  $\sigma(n) \geq n_3$  for all  $n \geq n_4$ . Combining (C<sub>4</sub>) and (16), we get

$$\begin{aligned} f(x(\sigma(n))) &\geq K(1 - p_0)z(\sigma(n)) \text{ for } n \geq n_4. \\ &\geq K(1 - p_0)z(\sigma(n + 1)) \end{aligned} \tag{3.9}$$

In view of Lemma 2.2 and the decreasing character of  $\Delta^{m-1}z(n)$ , we have

$$\Delta z(\sigma(n)) \geq M(\sigma(n))^{(m-2)} \Delta^{m-1}z(n), \text{ for } n \geq n_5 \geq n_3. \tag{3.10}$$

Define

$$w(n) = \frac{r(n)\Delta^{m-1}z(n)}{z(\sigma(n))} \tag{3.11}$$

and then  $w(n) > 0$  for  $n \geq n_6 = \max\{n_4, n_5\}$ . By taking difference of  $w(n)$  and using (11), (17) and (18), we have

$$\begin{aligned}\Delta w(n) &= \frac{\Delta(r(n)\Delta^{m-1}z(n))}{z(\sigma(n))} - \frac{r(n)\Delta^{m-1}z(n)\Delta z(\sigma(n))}{z(\sigma(n))z(\sigma(n+1))} \\ &\geq -K(1-p_0)q(n) - \frac{r(n)\Delta^{m-1}z(n)M(\sigma(n))^{(m-2)}\Delta^{m-1}z(n)}{z(\sigma(n))z(\sigma(n))} \\ &= -K(1-p_0)q(n) - \frac{M(\sigma(n))^{m-2}(w(n))^2}{r(n)}\end{aligned}\quad (3.12)$$

Since  $r(n) > 0$ , the term

$$\frac{M(\sigma(n))^{m-2}(w(n))^2}{r(n)} > 0 \quad (3.13)$$

Hence (20) reduces to

$$\Delta w(n) \leq -K(1-p_0)q(n). \quad (3.14)$$

Summing the inequality from  $n_7$  to  $n-1$ ,  $n_7 > n_6$ , and using the assumption (9), we see that  $w(n) \rightarrow -\infty$  as  $n \rightarrow \infty$ . But this contradicts the positivity of  $w(n)$ . Hence the Theorem is proved.  $\blacksquare$

In the above proof, being  $l \geq 1$  plays an important role. In fact  $l = 0$  is possible only for odd orders. In this case, the solutions are bounded. For unbounded solutions with  $m$  being odd, the integer  $l$  must be greater than or equal to 2. Thus, it is easy to show that if  $m$  is odd and the conditions of Theorem 3.1 are satisfied, then unbounded solution of (1) is oscillatory.

**Remark 3.2.** Theorem 3.1 remains true if the function  $f$  satisfies the condition that  $xf(x) > 0$  and there exists a nondecreasing continuous function  $\Phi : R \rightarrow R$  with

$$|f(x)| \geq \Phi(|x|) \quad (3.15)$$

**Remark 3.3.** The condition (9) can be rewritten as

$$\sum_{n=n_0}^{\infty} q(n)[1-p(\sigma(n))] = \infty \quad (3.16)$$

for the function  $p(n)$ . In this case, we consider unbounded solution.

**Theorem 3.4.** Assume that (3) and (9) holds and  $n \geq 4$  is even. Further suppose that

$$\sum_{n=n_0}^{\infty} \left[ Cq(s)(\sigma(s))^{m-2}\delta(s) - \frac{1}{4r(s)\delta(s)} \right] = \infty \quad (3.17)$$

where  $C = \frac{\alpha K}{(m-2)!}$ ,  $\alpha \in (0, 1)$  is a constant, and  $\delta(n) = \sum_{s=n}^{\infty} \frac{1}{r(s)}$ . Then every solution  $x(n)$  of (1) is either oscillatory or tends to zero as  $n \rightarrow \infty$ .

*Proof.* Assume that (1) has a nonoscillatory solution  $x(n)$ . Without loss of generality, we assume that there exists a  $n_1 \geq n_2$  such that  $x(n) > 0$ ,  $x(\tau(n)) > 0$  and  $x(\sigma(n)) > 0$  for all  $n \geq n_1$ .

Proceeding as in the proof of Theorem 3.1, we conclude that  $r(n)\Delta^{m-1}z(n)$  is decreasing and  $\Delta^{m-1}z(n)$  is eventually of one sign. Hence either (12) or (13) holds. If (12) holds, we obtain a contradiction by proceeding as in the proof of Theorem 3.1.

Suppose that (13) holds, that is  $\Delta^{m-1}z(n) < 0$ , for  $n \geq n_2 \geq n_1$ . Now we consider two assumptions: unbounded solutions and bounded solutions.

If the solution  $x(n)$  is unbounded, it is obvious that  $z(n)$  is also unbounded. Since  $z(n)\Delta^{m-1}z(n) < 0$  and  $m - 1$  is odd, we have by Lemma 2.1 that  $l \geq 2$  (if  $l = 0$ , then  $z(n)$  is bounded). Hence from (4), we have that  $\Delta z(n) > 0$  and  $\Delta^2 z(n) > 0$ . Therefore  $\lim_{n \rightarrow \infty} z(n) > 0$ . Since  $z(n)$  is increasing, we obtain

$$x(n) \geq (1 - p_0)z(n) \text{ for } n \geq n_3 \geq n_2. \quad (3.18)$$

By Lemma 2.2, and the fact that  $\Delta^{m-2}z(n)$  is decreasing we get

$$z(\sigma(n)) \geq \frac{\lambda(\sigma(n))^{(m-2)}}{(m-2)!} \Delta^{m-2}z(n), \quad n \geq n_4 \geq n_2. \quad (3.19)$$

Combining (C<sub>4</sub>), (26) and (27), we obtain

$$f(x(\sigma(n))) \geq C(\sigma(n))^{(m-2)} \Delta^{m-2}z(n), \text{ for } n \geq n_5 = \max\{n_3, n_4\},$$

where  $C = \frac{\lambda K}{(m-2)!}$  with  $\lambda = \left(\frac{1}{2^{(m-2)}}\right)^{(m-2)} \in (0, 1)$  Define

$$w(n) = \frac{r(n)\Delta^{m-1}z(n)}{\Delta^{m-2}z(n)} \quad (3.20)$$

and then  $w(n) < 0$  for  $n \geq n_5$ . Taking difference of  $w(n)$  and using (11) and (28) we get

$$\begin{aligned} \Delta w(n) &\leq \frac{\Delta(r(n)\Delta^{m-1}z(n))}{\Delta^{m-2}z(n+1)} - \frac{w^2(n)}{r(n)} \\ &\leq -Cq(n)(\sigma(n))^{(m-2)} - \frac{w^2(n)}{r(n)} \end{aligned} \quad (3.21)$$

As in the proof of Theorem (3.4) in case (1), we can show that

$$-1 \leq w(n)\delta(n) < 0. \quad (3.22)$$

Multiplying the inequality (30) by  $\delta(n)$ , and summing from  $n_5$  to  $n - 1$  we get

$$w(n)\delta(n) - w(n_5)\delta(n_5) + \sum_{n_5}^{n-1} \frac{w(s)}{r(s)} + \sum_{n_5}^{n-1} \frac{w^2(s)\delta(s)}{r(s)} \leq - \sum_{n_5}^{n-1} Cq(s)(\sigma(s))^{(m-2)}\delta(s) \quad (3.23)$$

or

$$\begin{aligned} w(n)\delta(s) &= w(n_5)\delta(n_5) \\ &\leq -\sum_{n_5}^{n-1} \left[ Cq(s)(\sigma(s))^{(m-2)}\delta(s) - \frac{1}{4r(s)\delta(s)} \right] - \sum_{n_5}^{n-1} \frac{[w(s)\delta(s) + \frac{1}{2}]^2}{r(s)\delta(s)} \end{aligned}$$

Thus

$$w(n)\delta(n) \leq -\sum_{n_5}^{n-1} \left[ Cq(s)(\sigma(s))^{(m-2)}\delta(s) - \frac{1}{4r(s)\delta(s)} \right] + w(n_5)\delta(n_5) \quad (3.24)$$

Using assumption (25), we see that  $w(n)\delta(n) \rightarrow -\infty$  as  $n \rightarrow \infty$ . But this contradicts (31).

In the solution  $x(n)$  is bounded, then  $z(n)$  is also bounded. Since  $z(n)\Delta^{m-1}z(n) < 0$  and  $m-1$  is odd, we have by Lemma 2.1 that  $l = 0$  (otherwise,  $z(n)$  is not bounded). Hence, from (4) and (5), we have

$$(-1)^i \Delta^i z(n) > 0, i = 0, 1, 2, \dots, m-2 \text{ for } n \geq n_3 \geq n_2. \quad (3.25)$$

From (10) and the fact that  $z(n) > x(n)$ , we obtain

$$x(n) \geq z(n) - p_0x(\tau(n)) \geq z(n) - p_0z(\tau(n)) \quad (3.26)$$

or

$$x(n) \geq z(\tau(n)) \left[ \frac{z(n)}{z(\tau(n))} - p_0 \right] \quad (3.27)$$

From (34),  $z(n) > 0$ ,  $\Delta z(n) < 0$  and  $\Delta^2 z(n) > 0$ , we have  $\lim_{n \rightarrow \infty} z(n) = \lambda \geq 0$ . Now we consider two cases.

**Case I:** Consider  $\lambda > 0$ . Since  $z(n)$  is decreasing, there is an  $\epsilon > 0$  and  $n_4 \geq n_3$  such that, for  $n \geq n_4$ ,

$$\lambda \leq z(n) \leq z(\tau(n)) \leq \lambda + \epsilon \quad (3.28)$$

From this, we can conclude that

$$\frac{z(n)}{z(\tau(n))} \geq \frac{\lambda}{\lambda + \epsilon} \quad (3.29)$$

Choose  $n_5 \geq n_4$  such that, for  $n \geq n_5$ , we have  $p_0 + \epsilon_1 \leq \frac{\lambda}{\lambda + \epsilon}$ , for some  $\epsilon_1 > 0$ . Thus

$$\frac{z(n)}{z(\tau(n))} \geq p_0 + \epsilon, n \geq n_5. \quad (3.30)$$



Using this inequality in (36) and the fact that  $z(n)$  is decreasing, we obtain

$$x(n) \geq \epsilon_1 z(n), n \geq n_5. \quad (3.31)$$

By Lemma 2.2, and the fact that  $\Delta^{m-2}z(n)$  is decreasing, we obtain

$$z(\sigma(n)) \geq \frac{\lambda(\sigma(n))^{(m-2)}}{(m-2)!} \Delta^{m-2}z(n), n \geq n_6 \geq n_3. \quad (3.32)$$

Combining (C<sub>4</sub>), (40) and (41), we obtain

$$f(x(\sigma(n))) \geq C(\sigma(n))^{(m-2)} \Delta^{m-2}z(n) \text{ for } n \geq n_7 = \max\{n_5, n_6\},$$

where  $C = \frac{\alpha K}{(m-2)!}$  with  $\alpha = \epsilon_1 \lambda \in (0, 1)$ .

By using the transformation (29) and proceeding as in the previous assumption ( $x(n)$  is unbounded), again we obtain a contradiction with (25).

**Case II:** Consider that  $\lambda = 0$ , since  $x(n) \leq z(n)$ ,  $x(n)$  tends to zero as  $n \rightarrow \infty$ , and this completes the proof. ■

## 4. Examples

In this section, we present two examples to illustrate the above results.

**Example 4.1.** Consider the following even order nonlinear neutral difference equation

$$\Delta \left[ \sqrt{n} \Delta^{m-1} \left( x(n) + \frac{1}{2^2} x(n-2) \right) \right] + \frac{3^{m-1}}{2^{m+2}} (\sqrt{n+1} + 2\sqrt{n}) x(n-3) = 0, n \geq 3 \quad (4.1)$$

Here

$$r(n) = \sqrt{n}, \quad p(n) = \frac{1}{2^2} < 1, \quad q(n) = \frac{3^{m-1}}{2^{m+2}} (\sqrt{n+1} + 2\sqrt{n})$$

$$\tau(n) = n-2, \quad \sigma(n) = n-3, \quad \Delta\sigma(n) > 0 \text{ and } \frac{f(x)}{x} = 1.$$

We can see that all conditions of Theorem 3.1 are satisfied. Thus, every solution of (43) is oscillatory. One such solution is  $\{x(n)\} = \left\{ \frac{(-1)^n}{2^n} \right\}$ .

**Example 4.2.** Consider the following even order nonlinear neutral difference equations

$$\Delta \left[ e^n \Delta^{m-1} \left( x(n) + \frac{1}{2^2} x(n-2) \right) \right] + \frac{1}{2^{n-3}} \frac{(e-2)e^n}{2^{m+2}} = 0, n \geq 3 \quad (4.2)$$

where

$$m \geq 4, p_0 = \frac{1}{2^2}, \tau(n) = n - 2, \sigma(n) = n - 3$$

$$q(n) = \frac{e^n(e - 2)}{2^{m+2}} > 0$$

and  $\frac{f(x)}{x} = 1$ . It is easy to check that all conditions of Theorem 3.2 are satisfied. Thus, every solution of (44) is either oscillatory or tends to zero. Indeed one such solution  $\{x(n)\} = \{\frac{1}{2^{n+1}}\}$  tends to zero as  $n \rightarrow \infty$ .

## References

- [1] Agarwal R.P., Difference Equation and Inequalities, Marcel Dekker, New York (1992).
- [2] Agarwal R.P. and Wong P.J.Y., Advanced Topics in Difference Equations, Kluwer Academic Publishers, (1997).
- [3] Agarwal R.P., Manuel M.M.S. and Thandapani E., Oscillatory and nonoscillatory behavior of Second order neutral delay difference equations, *Math. Comput. Modelling*, 24 (1996) 5–11.
- [4] Agarwal R.P., Manuel M.M.S. and Thandapani E., Oscillatory and non oscillatory behavior of Second order neutral delay difference equations II, *Appl. Math. Lett.*, 10 (1997) 103–109.
- [5] Elaydi S.N., An introduction to Difference Equations, Springer-Verlag, New York, 1995.
- [6] Elizabeth S., Graef J.R., Sundaram P. and Thandapani E., Classifying non-oscillatory solutions and oscillation of a neutral difference equation, *J. Diff. Eqns and Appl.*, 11 (2005) 605–618.
- [7] Fuand S.C. and Tsai L.Y., Oscillation in nonlinear Difference equations. *Computers Math. Applic.*, 36 (1998) 193–201.
- [8] Gyori I. and Ladas G., Oscillation Theory of Delay Differential Equations with Applications, Clarendon Press, Oxford-1991.
- [9] He X.Z., Oscillatory and asymptotic behavior of second order nonlinear difference equation, *J. Math. Anal. Appl.*, 175(1993) 482–498.
- [10] Hooker J.W., Patula W.T., Growth and Oscillation properties of solution of a fourth order linear difference equations, *J. Austral. Math. Soc. B*, 1326 (1985) 310–328.
- [11] Hooker J.W. and Patula W.J., Riccati type transformations for second order linear difference equations, *J. Math. Anal. Appl.*, 141 (1984) 463–483.
- [12] Jurang Y. and Bin L., Oscillatory and Asymptotic behavior of fourth order nonlinear difference equations, *Acta. Math. Sinica New Series*, 13 (1997) 105–115.

- [13] Kelley W.G. and Peterson A.C, Difference Equations, An Introduction with Applications, Academic Press, New York (1991).
- [14] Kubiacyk I. and Sekar S.H., Oscillation Theorems for second order sublinear delay difference equations, *Math. Solvava*, 52 (2002) 343–359.
- [15] Ladas G. and Qian C., Comparison results and Generalized Oscillation for higher order difference equations, *Inter. J. Math. Sci.*, 15 (1992) 129–142.
- [16] Lakshmikantham V. and Trigiante D., Theory of Difference equations, Numerical Methods and applications, Math.in.science and Engineering, 181, Academic Press, New York, 1988.
- [17] Lalli B.S. and Grace S.R., Oscillation theorems for second order neutral difference equation, *Appl. Math. Comput.*, 62 (1994) 47–60.
- [18] Li H.J. and Yen C.C., Oscillation criteria for second order neutral delay difference equations, *Computers Math. Applic.*, 36 (1998) 123–132.
- [19] Li W.T., Oscillation of higher order neutral nonlinear difference equations, *Appl. Math. Lett.*, 11 (1998) 1–8.
- [20] Liu Z., Wu S. and Zhang Z., Oscillation of solutions for even-order nonlinear difference equations with nonlinear neutral term, *Indian J. Pure. Appl. Math.*, 34 (2003) 1585–1598.
- [21] Luo J., Oscillation criteria for second order quasilinear neutral difference equations, *Computers Math. Appl.*, 43 (2002) 1549–1551.
- [22] Pon. Sundar, On the oscillation of second order neutral functional difference equation, *Bull. Cal. Math. Soc.*, 101 (2009) 309–322.
- [23] Pon. Sundar and Kishokkumar B., Oscillation criteria for even order nonlinear neutral difference equations, No. 2, Volume 32, J. Indian Acad. of Mathematics.
- [24] Pon. Sundaram and Thandapani E., Oscillation and nonoscillation theorems for second order quasilinear functional difference equations, *Indian. J. Pure. Appl. Math.*, 31(1) (2000) 37–47.
- [25] Smith B. and Taylor Jr.W.E., Oscillatory and asymptotic behavior of certain fourth order difference equations, *Rocky Mountain J. Math.*, 16 (1986) 403–406.
- [26] Szatranski Z. and Szamanda B., Oscillation theorems for some nonlinear difference equations, *Appl. Math. Comput.*, 83 (1997) 43–52.
- [27] Thandapani E. and Arul R., Oscillation and nonoscillation theorems for a class of second order quasilinear difference equation, *ZAA*, 16 (1997) 749–759.
- [28] Thandapani E., Graef J.R. and Spikes W.P., On the oscillation of solutions of second order quasilinear difference equations, *Nonlinear world*, 3 (1996) 545–565.
- [29] Thandapani E., Manuel M.M.S. and Agarwal R.P., Oscillation and nonoscillation theorems for Second order quasilinear difference equations, *Facta. Unio. Ser. Math. Inform.*, 11 (1991) 49–65.

- [30] Zafer A. and Dabiya R.S., Oscillation of neutral difference equations, *Appl. Math. Lett.*, 6 (1993) 71–74.
- [31] Zhou. X. L. and J.R. Yan, Oscillatory property of Higher order nonlinear difference equations, *Computers. Math. Applic.*, 31 (1996) 61–68.